PRINCE OF SONGKLA UNIVERSITY

FACULTY OF ENGINEERING
Final Examination: Semester 1 Academic Year: 2015
Date: 8/12/2015 Time: 13:30-16:30
Subject: 227-341 Engineering Economy Room: A401
X
Instructions

e There are 5 questions (6 pages).

o Total score is 100

e Answer all questions.

e Dictionary, calculators, books and lecture-notes are allowed.
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Good luck
Sakesun Suthummanon

Question Score
1 28
2 20
3 20 J
4 12
5 20
Total 100
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Question 1: Tasmwdsthonwihlvadodhslflunens fusenidsaniedulasinisan
ussdavesiguialaiifaiauannuiTngnunn) 2 wuudil

1r5an13 n fimsyaviegluaAuaviensunsmuuLln  nsynglasAldituamu 2,000,000Um
T nulsnasaluideAguasnuitas 10,000 v MsMwvispaunAlEEuY 700,000 vn fedildau
191 30 U dfingeuungaiaz 30,000 uwm

Tasein1s v finsnaiewdn udalisafuineunisdmiufinh msnvewdnldGuamu
900,000 vwilongnisldau 40 T Ageurgaviemdndet 6,000 uw grafuiildiEuamu 500,000
v feitldnuldinaenly Fguataiisisrafiuilusres 5 Tusnusadulitas 60,000 udwiniy
UszidluliUay 40,000 um Tutadldl 6 8l 10 wdwnda 11 Huiulufiedn dguadesniagilios
20,000 U mMsypeunimazianimng 20 ¥ MHiFuamuadeay 300,000 v Awext1zsTlas 5,000
UM

flasmednidldsuiufnnussmean  Sdenonids 5%  msesdenairauuuledee
wgay (Wnlgisaieuvituinemirdusetlunisium)
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Question 2: A new truck will require an investment of $20,000 and is expect to have year-end

market values and annual expenses as shown in table. If the MARR is 10% per year, how long should

the asset be retained in service?

End of year, k

MV, End of year, k

Annual Expenses

$20,000

15,000

11,250

8,500

6,500

4,750

$2,000

3,000

4,620

8,000

12,000
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Question 3: A firm has invested in $14000 Machinery with a 7 year useful life. The machinery will
have no salvage value, as the cost of removing it will equal scrap value. The uniform annul benefits
from the machinery are $3600. For a 47% income tax rate, and straight line depreciation, compute
the after tax rate of return. (#1 IRR ¥AINISAANEY)
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Question 4: anmsnikanttiaaiiaseilasinisneldiuifnmigeg

Wu7g: 100 UM

aaen ANFBINTTAN ANURBINSUY | AIEBINTSEN
nang

A -250 100 625

B 100 150 415

C 50 80 300
a)  INQUFIMUATAU (MAXIMIN) BN ....ooceoeoeoeoeeeeooeeeceoeeeeeesseecessnsssersessseseenenneneee
b) NEUNMUNBUNAT (MAXIMEX)  LHOM.eeereeereeeeeeeeeeeeeeeeooeeeeese s eereseeennes
O NUNANANY (Laplace) BN ooeeeeeeeeeeceeeeeeeeeeoeseeesse e
d) nEUIITUTUNN (MINIMax Beret) LaBM......oooorvvoooovoreeeeereceeeeeeeeeeseeeeeeeeseeee e
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Question 5: §néndouile 2 Biudlusim 120,000 vn wazaaelEludn 10 § Aman
vassadndnluvnizEivindu 42,000 UM wazaAdnEn 10 Thamhsimezmde 8,000 v Flddresa q Uay
12,000 uw leididaiaualwidiunme wisadndnumawnilusian 9,000 el alsdretas 14,000 um
WildmmudluSoamsmaunumindauiinssigimsldsaininiudeluviomsvaunudesos fuunsam
HaRBUWNY 12% sial
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